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TAULA DEL 8
Nom: Data: Nivell:
® Calada
8x4=__ 8x10=__ 8x8=__
8x8=__ 8x9=__ 8x2=___
8x0=__ 8x8=___ 8x4=__
8x3=__ 8x7=__ 8x7=___
8x7=__ 8x6=__ 8x0=__
8x2=___ 8xb=__ 8xb=__
8x10=__ 8x4=-__ 8x3=__
8x6=__ 8x3=___ 8x6=__
8x1=__ 8x2=__ 8x2=__
8xb5=__ 8x1=___ 8x7=__
8x9=__ 8x0=___ 8x9=__
8x4=__ 8x8=__ 8x8=___
8x7=____ 8x5=__ 8 x 10 =
8x10=__ 8x3=__ 8x7=___
8x6=__ 8x1=__ 8xb=__

He encertat

de 45 en 2 minuts de temps.
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TAULA DEL 2,3,4,5,6, 7i 8

Nom: Data: Nivell:

® Calada

8x4=__ 4x10=__ 5x8=__
7x8=___ 8x9=___ bx2=___
S5x2=____ 6x8=____ 7x4=___
6x3=____ 8x7=____ 4x7=____
4x2=___ 4x6=__ 5x9=__
8x6=__ 8xb=__ 7x5=__
/7x1=__ 6x4=-__ 8x3=__
bx7=___ 5x3=___ b6x6=___
8x10=__ 7x2=__ 8x2=__
6xb=__ 6bx1=__ 5x7=____
4x9=-__ 6x0=__ 6x9=__
5x4=-__ /7x9=_ 8x8=__
6x10=__ 5x5=__ 5x10=__
7x6=___ 7x3=__ 7x7=___
7x10=__ bx6=__ 4x5=__

He encertat

de 45 en 2 minuts de temps.
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